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Completing the Square

" Write the expression as the square of a binormial
1. x*+16x+64 2. F+20x+100 |3, x*-24x+144 |4 x*—38x+361 |5 x*+1.4x+049

(u+8)° | (#i0)* | (-2 | (=19 | (xe.7)?

Fill in the blank so that each expression is a perfect square trinomial.

6. p—6p+_ 10. v +24v+ _IHY 14,y d0y+ FO0 18, P —adx+ FEG-

7. K14k + 44

11. 2> +18x+_&1 15. 2+ 2%+ {24 19. w* 36w+ S2%

17. x> -30x+ 225 21 2 —1lxs

8. ¥ —12x+ . %a 12. 72 -10n+ 25 16. x> —28x+ {9

9. m’—8m+_llo 13. x> +26x+ {64
~ Ve
Solve by completing the square & leave answers in simplest radical form é ,,%‘

22. 7t —6r=2 23. p’—4p=-1 24. y* +8y+13=0 |
rior+d =2+9 | predprd =iy - YReBytie= I3+
(r-3)*=1l | %
((r-3)%= %V

F-3= £\
_ +
r= 3% e = Ny

25.t° =1+8¢ 26. x* =18x—25 27, dr=r*—-7
22+ = | % — By +81= 2548 Fe—dr+d= T+4

£2-gt+le =1+ | (x-9)*=56 (Fr-2)%=

(£-4Y =17 Ver-ay =5
t-4=37 =437 w=9¥2(4 r= 2 HT
28. u’+2u =T 29. 4=7"+12z 30. > +5¢-36=0
U +2u+t = T7+] 72,122 b= 4434  At+5C 25
(U1 ) = 8 (2+6)*=40 C+5)=6

-+ y (2 +6 V= PV \4/{(75#“ g)w'g?% = Iy, 61
U+i=2¢2 24+ =t2V0 O+ 5=Tg
Us -2y 2=t 2Vi0 C==5t{




